A3 Rh1RBEFRINZ2ERAFPERA R EH
o B Ry 3T i S0 BR AL oL
1 R ] £ F 05
2 B n LIRS 5 ()
3 R B /] & = 08
4 LK BRIz ¥ (2
5 LR iF 5 ()48
6 LR it ¥ 0%
7 B n iF x0%
8 Bl s R F0fe
9 BAlY s B4 A = 0P
10 Bl s 2 #1R #R0E
11 B P Rl T ()&
12 Bl s £ 4R =0%
13 i JFFT ITE %10 &
14 SCIEIS BlFLE 0>
15 W3R FT FT R 3E() <
16 i 4R IT FLR % 04
17 iR T 1R ¥ 047
18 i 3F 5T TR % (7%
19 iR T 1R £ 0%
20 35T F1 R §0%
21 AR FT F1 R % 048
22 i JF T I1R 03K
23 W AR T FLE 10%
24 i 3R 5T 1R BES
25 i 4F T F1 R =0 m
26 WIRIT FT R w0
27 STIETE LR 3 01&
28 kI - FT 1 E 3 04
29 @ N FTE - T B FTE m 0F7
30 NIy - T FTR 7% 0 B4
31 NI - 51 FLR 0%
32 L FTg - T IR +0=
33 e N FLE - 3T IR 703
34 kI - FT 1R 0%
35 e NI - 3T FLR R0 L




L FIE - 7T FTR 2 0%
NI - T IR 02
BN FTY - FT 1R 7 0%
NI - T 1R 04
PG = A HEE £ 1R AES
U TTR - 5T I1 R #0457
BN TFTE - T IR B 045
N FLY - 7T 1R 204
VEABIE S N M FTE () =
N TFTE - 3T | FTE 0 1y
eI M N o 8 FT R 5 ()78
RS it N Ml o 8 FT R =02
EAIRE S A N 8 IR 7 05%
el TTE - 3T | GHIE:
oL PR - FL FTR R0 g
N FLY - 5T 1R % ik
A S e Nl £ 8 1R w0%
NI A M 2 FT R 3=() i
W oL FLY - FL FTR =0+
IS S A Ml £ 4 FTR +07%
WL FLY - FL FTR A
G 8 - N 2 FT R % (4o
U TTR - 3T 1R 0%
AR A g 8 1R %204
EEEs T FTE M0k
WELsl Err | FLE 205
W5 ErT 1R EOP
BRG] HrT e ¥ 048
RS T 71 R0 %
WLy HrT FT R 30i=
WEp sl T TR =0
Wips | Err 1R 0¥
wgns | Hrr 1R =04
gl T F1 R #1503
wgns | Hrr FT R =05
WEg sl HrT FT R 2108
Wipsl T ] 2 07
Wrips ! Err IR E0A




74 WEp s ErT IR 7R 05
75 WEp sl T 1R 202
76 Z AT FTE %0
71 X I ETT B FLE 3 0%
78 X > ETT FTH 3 08
79 X > ETT 1R R0
30 % > 1 0%
81 % rAETT 1R ¥ 0%
&2 Z rAETT FT R *03%
&3 £ AT F1 R F (02
84 X > ETT FT R 0%
85 X rIAETT 1R (%
86 Z rAETT F1 R k038
&7 £ AT F1 R &0
88 X rpETT FT R 03k
39 % T 1R z20%
90 X rETT FT R +#0<
91 FEFT F1E B (4o
92 FETT FTE Fi () 7
93 T FL £ 04
94 FEFT IR 3=() iz
95 FEFT FT R k02
96 FoEFT 1R 0.2
97 FCETT IR R 07k
08 FE T IT R #7 0 3
99 FE I FT R % (0%
100 FrFEFT FTH A kS
101 FEIT FL 04
102 F T IT R 407
103 f S8 IR 02
104 F T IT R 0%
105 Fr o 5T IR 05
106 FeHEFT 1R #0%




126 1 AR FT 1k 70 &
127 1 A2FT B FLE B0
128 1 43T I1 R 0 %
129 1 4237 IR #*0%
130 1 43T I1 R 5k 0 £
131 1 AR 3T FT R Z0%
132 1 A2 3T I1 R 0%
133 1 F27T TR 0%
134 1 A2 3T I1 R B 0ig
135 1 4271 IR 0%
136 1 4231 IR F0F
137 1 A2FT IR 04
138 1 AT 1R £ 042
139 1 4271 IR Z 08
140 1 A2 3T TR X 048
141 1 A2 FT IR F 0:%
142 1 43T EE P03
143 1 AZFT IT R 038







